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GAAP J|= $550 $431 $(82) 28% n/m
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XX EBITDA[**] $1,206 $1,198 $1,018 8% 27%
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oz o
CHeio|elol Rl
20/9! [#+] $514 $431 $228 19% 126%
oz o
TP
5|4 EPS[**] $0.36 $0.30 $0.16 20% 125%
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e OBl 17% SO}, |01 NS HE2 A9 Ol 43% SO
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n/m=/2|olkl %S.
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$812 $817 $738 -1% 10%
1,192 1,117 1,215 7% 2%
2,273 2,110 1,837 8% 24%
1,674 1,681 1,532 0% 9%
(104) (91) (64) n/m n/m
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[*]EZ8HIEZHE 20203 4200 =0l12 2™ AMILE O ) MEE= 20208 3200 24
45000tt21ol &S SRICH O DH2e g&k2 MestH 2021E 3201 2H &2 849 HEI17% =
e n, =01 XY tHE2 MY il 43% SIHRICH

n/m=S2|otXl %3S

[E=y =]

2E2Y AN
Cxg & sg
(St e40h)
2y s28
2021 4 2021 ¢ 2020 &
98 6= 9= 2D HNEE
30 & 30 & 30 & =] chal
I[ES
=X
$615 $625 $603 -2% 2%
=0 196 191 134 3% 46%
JIE} 1 1 1 n/m n/m
$812 $817 $738 -1% 10%
MH&E Fg01Y $284 $274 $201 4% 42%
N& 0|9 35.0% 33.5% 27.2% 154 bps 784 bps



CXE 2 E& AYR HE2 8120022 H2D| HHl 1% ZAJCH 0l= APS Z2EE [
ASE0| 280|9 UHE ATEQN BHIHR Qo CIXNE S2E S0 2AGHHAM A2ME FUCH =
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JIXE g2 (524) (175) (1,560)
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XNES OILI0 Ol2CH O 948 XES OFLIC
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SEEI0HD LD QUCH 3IAIS Qe 92X &0 E=2 & 0] #22 &) 3IAS A&S ol
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M M2 = 202 EPS
EE2WEH LI =012 (GAAP J|Z) $691 $129 $12 $550 $0.39
S glag ash (47) (11) - (36) (0.03)
P2 L Yo H e
EEHEN LI =0/ $644 $118 $12 $514 $0.36
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b1 X1 b 3| &
H& K3 Xl & 20/ EPS
EHﬂEﬁ 2| == 4 (GAAP JIE) $(54) $19 $9 $(82) $(0.06)
S8 E BR3 254 39 - 215 0.15
o_laﬂ 2= 63 - - 63 0.05
JIE 33 1 - 32 0.02
HP3H U EIIYH KL EEHEH
=0 #0012 $296 $59 $9 $228 $0.16
20214 9 &
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SEH2H YI| =24 (GAAP JIF) $(11,769)  $(901) $24  $(10,892)  $(7.84)
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SEIA 4t 3,321 815 - 2,506 1.80
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WD oL &4 603 49 - 554 0.40
S0l 22 BHY &4 587 133 - 454 0.33
INE=T R RIS, 311 67 - 244 0.18
NE B 23 254 39 - 215 0.15
S¥ 25 Z2 HI8 205 (25) 230 0.17
HEIZ2H0IHE RIZ TIOIE &4 156 2 - 154 0.11
A THOH 40 2 - 38 0.03
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